D 105° @ 115° @ 125° @135° ® 145°

£COD = /OAD + /ADB, /ADB = 35° — 25° = 10°, ZADB =
/DBC = 10° = y O|t}. /x + /z = 180° — 35° = 145° ot}
wh2bA| zx — £y + £z = 145° — 10° = 135° o]t}
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[7}4] bABCD 4] AB//DC, AD // BC
[2&] AO =CO, BO =DO
5] AOAD 2} AOCB oA HPAPHG o] i o] dol= 2
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AD=BC---O@
AD//BColE=&

(OAD = /OCB (9%}) ---©,
©ODA=[__|(3%) -©
@, ©, ©°l 914 AOAD = AOCB ( ASA 3%)

..AO = CO, BO=DO

® /0ODA @ /0AB ® /CDO
@).08c ® /BCO

B

AOAD 2} AOCB Ol A BaAPAR 2] o] dol=Zoua
AD =BC, AD//BC°]1

L(OAD = /OCB (%17}, ZODA = (OBC (%1Z})olB=
AOAD = AOCB ( ASA 3H5) o]t}
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BF, CE = Z+Z+ /B, «C 9] o] 5B Ho]|t},
AB = 18cm, BC = 2lcm ¥ ©), EF ¢ 2
o]=?

D) 15cm @ 18cm ® 20cm

@ 2lcm ® 23cm

B

AF = AB = 18 (cm)
CD = DE = 18 (cm)

AF +ED - EF = 21 (cm) °|22
EF = 18 + 18 - 21 = 15 (cm)
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3 ABCD 9|4l AB = 10, BC = 12, /ADB = 34° 9 1j, t}-&
Z A4S ABCD 7F B3AMH o] Bl AL

® CD =12, /CBD = 56° ® AD=12, CD=28
® CD = 10, /ABC = 56° @ AD =10, /ABD = 34°

@E =12, /CBD = 34°
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Heauge = 4ol gl Polot Bzl 27171 217} Bt




o2 13 A3 ABCD |4 CD 9] 54 E & o} AE
o] 47417 BC © A4 w¥E F 2 514 /ADE = /AED ¥
h

® 23ecm @ 28cm @ 30cm @44cm ® 49cm

~&B )

AEAD = AEFC (ASA &%)0]|22 AD = CF = 7cm .. BF =
14 cm

183 /B = (D, (DEA = (FAB (91Z}) 0|2 & AABF =
(B = (FAB ¢l o]5H4tzZtgo|rt,

w2hA] AABF 9] &3¢ dol= 44cem
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D)54° @ 56° ® 58°
@ 60° ® 62°
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/B = 180° x 5= 72°
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O AOAB = A0CD
© (BAD = /BCD
® ¢ABO = /0BC
©® OA =0C
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® /ABO = /CDO
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10. ch& 1719 BPAEY ABCD o4 a + b
o zre?

D)19cm @ 20cm @ 2lcm

@ 22cm ® 23cm

/DAF = (CEF (- 597}

(BAE = /CFE (= Q2%

ACEF £ ©]5 14z o] Eo] CE = CF, b = 8cm

ADAF & o]|5H 475 o] 517, pABCD ©|4] AB = DC ©]
oz

AD=DF =a=b+DC =8+3=1lcm
~a+b=11+8=19(cm)
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@® sOBA = /0CD @ AOAB = A0AD
(®)0A = 0C, OB = OD @ AB = AD, CB = (D
® OA = OB = 0C = 0D

~&B

AAOD ¢} ACOB ©f|A /DAO = /BCO (47}
AD =BC (B3 g <] o)

/ADO = /CBO (97}

. AAOD = ACOB (ASA %)

.. OA=0C, OB=0D
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o 17 22 BPAHF ABCD oA B} /D 2] o] 5RAl0]
AD, BC¢} 9ty He Zt ZH E, Fef 52, BC = 10cm, DC =
6cm, <C = 60°<% w, oBFDE 2] =9 Zo]=?

@ 16cm @ 18cm @QOcm @ 22cm ® 24cm
1 1

(EBF = izB = §zD = /(EDF ---Q
/DEB = 180° - /EBF = 180° — /EDF = /BFD -
D, ©°lA ocEBFD & F+ %< thzte] =227]7t 7—-*7—.* gonz
hic| 6“/\]-tﬂ-aﬂo]1:]-
(EDF = /DFC (.- 31Z}) o] B2 ACDF & o] 584 Ztgo| 1, Al
Zho] BE 60°olm2 A4rzteoltt

.. FC=DC = DF = EB = 6(cm)

s (EEE dol) = (6+4) x2 = 20(cm)

. DE=BF =BC-FC = 10 -6 = 4(cm
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BE = CE
DF 9] Zo]&=?

D 8 @ 10 @12
@ 14 ® 16

AABE ¢} AFCE ©] A

(AEB = (FEC (%322}

BE =CE

(ABE = /FCE (97}

. AABE = AFCE (ASA &%)
. DF=DC+CF=6+6=12




14. th& 279 22 ArtelE ABCD oA BC = AB+AD Y 1), 2D ©]
2715 Fatolat,

A D

70°

Q

B

@ 105° @ 110° @ 115° @ 120° @125°

=

AB//DE¢l DEE 1°%W nABED &= ¥ AP o] AB =
DE = ECo|t}.

(EDC = (180°-70°) + 2 = 55°

5 /D =70°455°=125°




15. Fo]7 1¥olA4 A 01 AC 9] £%0°]1, oABCD,00CDE &

2= gagapdagoltt, AB = 4cm,BC = 6ecm Y
Zol& Fatofet,

@ 4cm @)5cm ® 6cm @ Tem

! o, AF + OF 9

® 8cm

1——
F=3AD
OF — L0E = LcD
2 2
1
s in(B +OE) = (6+4)_5(cm)




